1) Describe how concrete and abstract concepts differ. Give an example of an abstract ideal type and a concrete classification. 

Answer: 

· Concepts vary by scope. Some are highly abstract and some are at a concrete level, i.e., they are easy to experience directly with the senses, such as sight or sound. 

· More abstract concepts have a wider scope; that is, they can be used for a much broader range of specific time points and situations.

· More concrete concepts are easy to recognize but apply to fewer situations.

· An example of an abstract ideal type is the concept of bureaucracy (as developed by Max Weber). 

· An example of a concrete classification is age based on a birth certificate date.
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2) How do prediction, theoretical explanation, and understanding differ? 

Answer: 

· A prediction is a statement about something that is likely to occur in the future. It is easier to predict than to explain, and an explanation has more logical power than a prediction because good explanations also predict. An explanation rarely predicts more than one outcome, but the same outcome may be predicted by opposing explanations.

· A theoretical explanation is a logical argument that tells why something occurs and how concepts are connected. It refers to a general rule or principle. 

· Understanding is dependent on a well-developed theory and is confirmed in research by empirical observations. 
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3) Why do we need more than association to demonstrate a causal relationship? 

Answer: 

· A researcher needs three things to establish causality: temporal order; association; and the elimination of plausible alternatives.

· An implicit fourth condition is an assumption that a causal relationship makes sense or fits with broader assumptions or a theoretical framework. 
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4) Why do researchers worry about alternative explanations when stating a causal relationship? 

Answer: 

· Researchers can observe temporal order and association, but they cannot observe the elimination of alternatives. They can only demonstrate it indirectly.

· Eliminating alternative explanations is an ideal because eliminating all possible alternatives is impossible. 

· A researcher tries to eliminate major alternative explanations in two ways: through built-in design controls and by measuring potential hidden causes. Experimental researchers build controls into the study design itself to eliminate alternative causes; they isolate an experimental situation from the influence of all variables except the main causal variable. 
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5) What is the difference between inductive and deductive approaches to research? 

Answer: 

· In a deductive approach, a researcher begins with an abstract, logical relationship among concepts, then moves toward concrete empirical evidence. The researcher may have ideas about how the world operates and wants to test these ideas against “hard data.” 

· In an inductive approach, a researcher begins with detailed observations of the world and moves toward more abstract generalizations and ideas. In the beginning, the researcher may have only a topic and some vague concepts. 
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6) How do structural and interpretative explanations differ? 

Answer:

· A structural explanation is like a wheel with spokes from a central idea or a spider web in which each strand forms part of the whole. A researcher making a structural explanation uses a set of interconnected assumptions, concepts, and relationships.

· Instead of causal statements, the researcher uses metaphors or analogies so that relationships “make sense.” The concepts and relations within a theory form a mutually reinforcing system.

· In structural explanations, the researcher specifies a sequence of phases or identifies essential parts that form an interlocked whole. 

· The purpose of an interpretive explanation is to foster understanding.

· The interpretive theorist attempts to discover the meaning of an event or practice by placing it within a specific social context. The theorist tries to comprehend or mentally grasp the operation of the social world as well as to get a feel for something or to see the world as another person does. 
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7) Describe how micro, meso, and macro levels of social reality differ. 

Answer: 

· Micro-level theory deals with small slices of time, space, or numbers of people. The concepts are usually not very abstract.

· Meso-level theory links macro and micro levels and operates at an intermediate level. Theories of organizations, social movements, and communities are often at this level. 

· Macro-level theory concerns the operation of larger aggregates, such as social institutions, entire cultural systems, and whole societies. It uses more concepts that are abstract.  
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8) Provide an ideal type of a concept and explain how it might be used. 

Answer: 

· Bureaucracy is an example of an ideal type of a concept.

· For example, it is a continuous organization governed by a system of rules. Conduct is governed by detached, impersonal rules. There is division of labour in which different offices are assigned different spheres of competence. 

· It distinguishes a bureaucracy from other organizational forms (e.g., social movements, kingdoms). It also clarifies critical features of a kind of organization that people once found nebulous and hard to think about. No real-life organization perfectly matches the ideal type, but the model helps us think about and study bureaucracy. 
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9) How are major theoretical frameworks used in research, if at all? 

Answer: 

· A major theoretical framework (a.k.a. paradigm or theoretical system) is more abstract than a middle range theory. Examples include conflict theory and structural functionalism.

· They are rarely used directly in empirical research. A researcher may test parts of a theory on a topic and occasionally contrast parts of the theories from different frameworks. 
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10) What are nomothetic and idiographic models of social science, and which of the three major approaches use each of them? 

Answer: 

· Nomothetic is an approach based on laws or one that operates according to a system of laws. 

· Idiographic is an approach that focuses on creating detailed descriptions of specific events in particular time periods and settings. It rarely goes beyond empirical generalizations to abstract social theory or causal laws.

· Interpretive researchers are likely to use idiographic approaches while positivists will use nomothetic approaches. 
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11) Professor Vladmir Vukovich cross-classifies the degree of conflict in a divorce (bitter, unpleasant, neutral, friendly) by whether the divorce involved the custody of children. He ends up with eight types of divorce and uses them to study divorce. Professor Vukovich developed a(n) 
A) causal explanation. 
B) aggregate. 
C) classification. 
D) grounded theory. 
E) negative relationship. 

Answer: C 
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12) Which concept has the highest level of abstraction, i.e., it is the most abstract? 
A) A murder 
B) The size of a city’s population 
C) Years of education attained 
D) Racial injustice 
E) An African-American child 

Answer: D 
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13) The following set of ideas—legal system, punishment, violent crime, income/race inequality, belief in deterrence, and human rights—would be considered a concept cluster for which of the following concepts? 
A) Marriage customs 
B) Immigration 
C) Art gallery 
D) Death penalty 
E) Educational system 

Answer: D 
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14) Graduate student Midori Suzuki studied how rice farming fits into Japanese society. Before she began the study, she relied on her prior knowledge that rice is a basic part of the diet of Japanese people. This is called one of her 
A) ideal types. 
B) assumptions. 
C) classifications. 
D) predictions. 
E) aggregations. 

Answer: B 
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15) Professor Dalessha Dahl developed a pure model of the “street kid” drug pusher to help her study a large city ghetto. She is using a(n) 
A) aggregation. 
B) replication. 
C) ideal type. 
D) classification. 
E) jargon. 

Answer: C 
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16) Which of the following propositions has the greatest theoretical range/level? 
A) Canadians who marry when they are older than 30 years old are less likely to divorce. 
B) University students who study more hours get higher grades on examinations. 
C) Almost all of the people who rob other people in major Canadian cities are males. 
D) During the past century, people in human societies moved toward using mass media on a more frequent basis. 
E) Young children who attended day care performed better in high school than children who stayed at home. 

Answer: D 
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17) How do inductive and deductive approaches to social theory and research differ? 
A) Inductive begins at the top of society and moves toward the bottom. Deductive begins at the bottom of society and moves toward the top. 
B) Inductive begins with small things and moves toward big things. Deductive begins with big things and moves toward small things. 
C) Inductive begins with concrete or observable things and moves toward abstract or theoretical ideas. Deductive begins with abstract or theoretical ideas and moves toward concrete or observable things. 
D) Inductive begins with big things at the top of society and moves toward small things at the bottom of society. Deductive begins at the bottom with small things and moves toward big things at the top. 
E) Inductive begins with the abstract or theoretical ideas and moves toward the concrete or observable. Deductive begins with concrete or observable things and oves toward abstract or theoretical ideas. 

Answer: C 
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18) Which statement about prediction and causal explanation is true? 
A) Prediction and explanation are two words for the same thing.
B) Explanation is easier to show with the scientific method than prediction is.
C) If one has prediction, one has all the basics of a causal explanation.
D) If one has a good causal explanation, one should be able to make accurate predictions.
E) Predictions are to basic research as explanations are to applied research. 

Answer: D 
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19) In a structural explanation, 
A) a researcher explains something of interest by identifying its cause or causes. 
B) a researcher describes a chain of cause and effect as being like a string of balls in a row such that hitting one causes it to hit another, and so forth. 
C) a researcher attempts to comprehend or mentally grasp the social world in terms of the subjective world view of other people. 
D) a researcher uses an interconnected web of concepts and relationships around a central idea or describes a sequence of phases in which one occurs before the next.
E) A and B.

Answer: D 

Diff: 6           Type: MC            Page Ref: 36 

Topic: The Aspects of Social Theory 

Skill: 07. Makes distinctions among related scientific ideas/processes 

20) Professor Pablo Pontes developed which theory to describe the dispersion of European settlers in Northern Mexico during the sixteenth century based on following river valleys? 
A) Micro-level theory
B) Meso-level theory 
C) Macro-level theory
D) Empirical generalization
E) Middle range theory

Answer: C 
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21) To make a causal statement, a researcher needs all of the following, EXCEPT 
A) temporal order. 
B) association. 
C) elimination of alternative explanation. 
D) mathematical proof. 
E) all the above are necessary. 

Answer: D 
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22) Professor Zheng Zhao wanted to study the cause for thousands of people leaving Hong Kong to move to Toronto, Ontario. In order to establish temporal order in his causal argument, he must show which of the following? 
A) There is a correlation between events in Hong Kong and a decision to move. 
B) Events occurred in Hong Kong before people moved to Toronto. 
C) The type of people who left Hong Kong are more educated and have more money than those who stayed.
D) A fear for the future of Hong Kong and no other reason caused the move to Toronto. 
E) Hong Kong media reports about a high quality of life in Toronto and relatives in Canada were not major factors in the decision for people to move. 

Answer: B 
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23) A theory that seeks to explain how the Newly Industrializing Countries (NICs) of East Asia (e.g., Hong Kong, Taiwan, South Korea, Singapore) were able to rapidly industrialize and gain a major position in world markets between the 1960s and the 1990s is operating at which level? 
A) Micro 
B) Meso 
C) Macro 
D) Mini 
E) Maxi 

Answer: C 
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24) Which of the following theoretical statements has the narrowest range? 
A) People who experience unclear expectations will feel tension and stress. 
B) College students who successfully complete a social research methods course develop critical reasoning skills that are superior to most other college students. 
C) Canadian females under the age of 30 who exercise twice a week have a life expectancy two to three years longer than those who do not. 
D) Professional baseball athletes in Japan who play first base and chew tobacco have the coordination and speed to tag more runners out than those who do not chew. 
E) Immigrant adolescents who arrive in Canada from South America have a more difficult time adjusting to the high school environment than those from Asia. 

Answer: D 
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25) Graduate student Bill Botorff developed a theory of social movement development. The theory states that a movement develops like a child matures and goes through developmental stages. Each stage is like a step in a set of stairs, it must be passed before the movement is able to advance to the next stage in the sequence of development steps. He says this pattern of development explains how the women’s movement and civil rights movement changed. He is using what type of explanation? 
A) Structural 
B) Interpretative 
C) Causal 
D) Predictive
E) None of the above

Answer: A 
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26) Which is the range of the following statement? Canadians who have grown up with one parent and a much older sibling of the opposite sex of the parent residing at home tend to treat the older sibling as a parent figure. 
A) Theoretical framework 
B) Theory on a topic 
C) Middle-range theory 
D) Empirical generalization 
E) None of the above is the range

Answer: D 
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27) You pick up an article in the Montreal Gazette and read the following: In a dating relationship, each person attempts to gain social approval and acceptance. If one person makes an elaborate entry and presents an expensive gift to obtain more approval, the other person feels a need to maintain balance in the relationship. A repayment through an offer of something of value (e.g., expressions of affection, sexual relations, etc.) is expected. Failure to repay the social debt may create embarrassment or place the receiver of the gift in a position of dependence. Which theoretical framework is the author using? 
A) Structural functionalism 
B) Conflict 
C) Symbolic interactionism 
D) Exchange theory 
E) None of the above

Answer: D 
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28) Graduate student Morton Millwork created a micro-level theory about working in a factory. Which of the following would he be most likely to study? 
A) How an increased division of labour with industrialization gave rise to factories as the places where many people work. 
B) How urbanization increased the growth of the factory as a form of social organization over the past 100 years.
C) How greater conflict between the managerial and non-managerial levels in a corporation increased the pace of factory work. 
D) How the development of robots and new computer-related production technology has produced a corresponding increase in the surveillance of employee behaviour in factories. 
E) How face-to-face interactions among workers in small work teams in a factory informally enforce certain company rules. 

Answer: E 
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29) Which general theoretical framework in sociology is most likely to state the following: In selecting a marriage partner, a man is likely to seriously consider potential mates who allow him to maintain power and control in the relationship. He will seek to maintain authority over a woman’s wealth, earnings, sexual favours, and social status, especially in a society where patriarchy prevails as an ideology and justifies his actions in the larger society. 
A) Exchange theory 
B) Symbolic interactionism 
C) Structural functional theory 
D) Conflict theory 
E) None of the above

Answer: D 
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30) Which of the three major approaches to social science holds that human life is based less on objective reality than on the ideas, beliefs, and perceptions people hold about reality? 
A) Positivism 
B) Interpretative social science 
C) Critical social science 
D) All of the above
E) None of the above

Answer: B 
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31) Professor Candice Candlestick said that social science cannot be value neutral, and a good study requires putting results into action to help people change society. Dr. Candlestick uses which approach to social science? 
A) Positivism 
B) Interpretative social science 
C) Critical social science 
D) All of the above
E) None of the above

Answer: C 
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32) The Interpretative Social Science approach is described as idiographic and inductive in its theory and method. What does this mean? 
A) It tries to discover a system of causal laws that determines patterns of human behaviour. 
B) It begins with abstract ideas, laws, or propositions. These are used to deduce logically or infer specific hypotheses that researchers test against the facts of observable empirical reality. 
C) It focuses on descriptions of specific people and events in a particular situation. It also starts with direct observations of the details in a situation and later develops somewhat more abstract generalizations if appropriate. 
D) A and B 
E) A and C 

Answer: C 

Diff: 7           Type: MC           Page Ref: 38-39 

Topic: The Three Major Approaches to Social Science 

Skill: 10. Able to utilize both inductive and deductive approaches to research

33) Positivism seeks universal laws, and positivist researchers attempt to create law-like generalizations to explain events in the social world. This focus on laws in explanation is called 
A) nomothetic. 
B) idiographic. 
C) inductive. 
D) deductive. 
E) dialectic. 

Answer: A 
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34) Some researchers encourage putting theory into practice and using the results of the practice to reformulate theory such that research encourages action in which people learn how to change the world. This idea is called 
A) replication. 
B) verstehen. 
C) praxis. 
D) paradigm. 
E) none of the above. 

Answer: C 
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35) Verstehen is a term used by which basic approach to social science? 
A) Positivist 
B) Interpretative 
C) Critical 
D) A and C
E) B and C

Answer: B 
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36) Value-free research is emphasized by which of the three approaches to social science? 
A) Positivist 
B) Interpretative 
C) Critical 
D) All of the above
E) A and C only

Answer: A 
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37) Praxis is used by which of the three major approaches to social science? 
A) Positivist 
B) Interpretative 
C) Critical 
D) A and B
E) B and C

Answer: C 
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38) In which situations would a researcher be most likely to use grounded theory? 
A) Qualitative, inductive field research that builds on empirical generalizations
B) Quantitative experimental research that is explanatory and tests theory 
C) A quantitative and deductive study that is nomothetic
D) An existing statistics study that works from an abstract theory down to testable hypotheses 
E) None of the above

Answer: A 
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39) Which of the following is at the most abstract, general level that is only loosely used when conducting an empirical research study? 
A) Scientific paradigm 
B) Formal theory 
C) Middle-range theory 
D) Empirical generalization 
E) Informal theory

Answer: A 
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40) The following theoretical proposition is an expression of which of the following: The more frequently and intensely a family engages in loving, close leisure activities together as a family unit, the less likely the children will develop distant, alienated feelings toward their parents. 
A) A negative causal relationship 
B) A positive causal relationship 
C) A functional theory 
D) A scientific paradigm 
E) None of the above

Answer: A 
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41) aggregate  

Answer: 

A collection of many different individuals, cases, or other units. 
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42)  association 

Answer:

A co-occurrence of two events, factors, characteristics, or activities, such that when one happens, the other one is likely to occur as well. Many statistics measure this. 

Diff: 3           Type: ES            Page Ref:  33 

Topic: The Aspects of Theory

Skill: 50. Able to define key terms 

43) assumption 

Answer:

Parts of social theories that are not tested, but act as starting points or basic beliefs about the world. They are necessary to make other theoretical statements and build social theory. 
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44) causal explanation 

Answer: 

A statement in social theory about why events occur that is expressed in terms of causes and effects. They correspond to associations in the empirical world. 
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45) classification 

Answer:

Complex, multi-dimensional concepts that have subtypes. They are parts of social theories between one, simple concept and a full theoretical explanation. 
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46) concept cluster 

Answer:

A collection of interrelated ideas that share common assumptions, belong to the same larger social theory, and refer to one another. 
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47) deductive approach 

Answer:

An approach to inquiry or social theory in which one begins with abstract ideas and principles, then works toward concrete, empirical details to test the ideas. 
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48) empirical generalization 

Answer: 

A quasi-theoretical statement that summarizes findings or empirical regularities. It uses few if any abstract concepts and only makes a statement about a recurring pattern that researchers observe. 
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49) functional theory 

Answer:

A type of social theory based on biological analogies, in which the social world or its parts are seen as systems, with its parts serving the needs of the system. 
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50) grounded theory 

Answer: 

Social theory that is rooted in observations of specific, concrete empirical details. 
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51) ideal type 

Answer: 

A pure model about an ideal, a process, a social relationship, or an event. One develops it to think more clearly and systematically. It is used both as a method of qualitative data analysis and in social theory building. 
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52) idiographic 

Answer: 

An approach that focuses on creating detailed descriptions of specific events in particular time periods and settings. It rarely goes beyond empirical generalizations to abstract social theory or causal laws. 
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53) inductive approach 

Answer: 

An approach to inquiry or social theory in which one begins with concrete empirical details, then works toward abstract ideas or general principles. 
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Topic: The Aspects of Theory 
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54) macro-level theory 

Answer: 

Social theories and explanations about more abstract, large-scale, and broad-scope aspects of social reality, such as social change in major institutions in a whole nation across decades. 
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55) meso-level theory 

Answer: 

Social theories and explanations about more middle-level social reality between a broad and narrow scope, such as the development and operation of social organizations, communities, or social movements over a five-year period. 
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56) micro-level theory 

Answer: 

Social theories and explanations about the concrete, small-scale, and narrow level of reality, such as face-to-face interaction in small groups over a two-month period of time. 
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57) negative relationship 

Answer: 

An association between two variables such that as values on one variable increase, values on the other variable fall or decrease. 
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58)  nomothetic 

Answer:

An approach based on laws or one that operates according to a system of laws. 
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59)  paradigm 

Answer: 

A general organizing framework for social theory and empirical research. It includes basic assumptions, major questions to be answered, models of good research practice and theory, and methods for finding answers to questions. 
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60)  positive relationship 

Answer: 

An association between two variables such that as values on one variable increase, values on the other variable rise or increase. 
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61) praxis 

Answer: 

An idea in critical social science that social theory and everyday practice interact or work together, mutually affecting one another. This interaction can promote social change. 
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62) prediction 

Answer: 

A statement about something that is likely to occur in the future. 
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Topic: The Aspects of Theory 
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63) proposition 

Answer: 

A basic statement in social theory that two ideas or variables are related to one another. It can be true or false, conditional, and/or causal. 

Diff: 3           Type: ES            Page Ref: 27 
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64) replication 

Answer:

The principle that researchers must be able to repeat scientific findings in multiple studies to have a high level of confidence that the findings are true. 
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65) Verstehen 

Answer: 

A German word that translates as “understanding.” Specifically, it means an empathic understanding of another’s worldview and is used in an interpretative approach to social science. 
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